/27647? i 5”6“".{7 Lleteere 22
° //€Wf9ﬂ'9 Law o-r oa'aw'faz‘/avc ;

= _ o Mo
™ /(; (7)/“ G 3
= Clnte, - o ~cente, A grabr'fa ?//ca-.a/
M JUG’Y(%Q’ =) Z((j ['V) = G __,7;2} loofeul(z'a/
L PPreset wm Lo, Sphesical €h&(77
Déj€C"j 67190:'«6 Vmaar,~ af‘ Z{j('r—-‘)oo):o

objech cente, APDU s

o ;o)
° 4(((’/&'6161‘0-» d‘t( {‘05/'5“" 67' g["r): G“ —/—;4;‘ = - Z}céa?‘ {45,,(

"Fvooo ol e
_ ' _ /‘{.: o~ acha.
-) at CC'&,(K > prac_( ; g (’r(éw(< )- 6_7:(—;—2- = g?z’/“jz o 047‘4
e Satelli€e Bmalioms] ov L.l oo 2
Umi £oran civcer (o oty = (v)= % Z—
_Je ‘ —
Vm£ = —;MZ § U, de, Im_p/q-é,,ce D{‘j”‘“"y j

[ S &(; ~
T L i e ok i i
Vese = — af plancts otaface (v=Tp)to reacd v —> oo
# ( So €4at E s ect :O)
'/{/aﬁtu %e %r%g as o OY _—_-q,,,J O/ 05,17 AFOV oéflcé- €,
Ea, €' S Lace 4




Where Is the center of mass?
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Where Is the center of mass?

X=0 Xto-.. X=$A.
o< 5m i >‘ —> X
1 kg 5 kg

A between the masses, 2.5 m from each
B between the masses, 1 m from the small mass
C. between the masses, 1 m from the large mass
l@ between the masses, 0.8 m from the large mass
E. at the large mass
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A 9 m long boat with a mass of 100 kg floats frictionlessly on
the water. The boat is initially at rest. A sailor of mass 50 kg
walks from the back to the front of the boat.

fN How far does the sailor move relative to the water?
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A 9 m long boat with a mass of 100 kg floats frictionlessly on
the water. The boat is initially at rest. A sailor of mass 50 kg
walks from the back to the front of the boat.

How far does the boat move relative to the water?l__ .
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